《小数的加减、乘除》计算大比拼

一、比一比，谁细心；
0.24×100=       36.5÷1000=       0×4.9=      20÷100= 

0.2×5=          2.4×5=           0.15×8=     4.5×0.2=

12.5×0.8=       0.6×0.9=         0.5×0.8=    1.8×5=

5.5+0.45=        0.2+0.8=          0.85-0.23=    10-9.8=

比一比，谁规范（求近似值的保留两位小数）；

3.61+5.39=       5.2-3.42=       0.4×5.8=      0.35×0.6=

6÷24=          9.2÷0.14=      1.28×4.7≈     4.57÷1.5≈   

比一比，谁简便；

16.2-3.57-5.43        34.8×59+34.8×41        12.5×64×7

比一比，谁会移；

2.6×4.6=（     ）×46              6.21÷1.38=（    ）÷138

0.58×1.65=58×（      ）          0.471÷0.15=4.71÷（     ）

16.8×0.125=16.8÷（      ）      360÷0.25=360×（      ）           
